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Examine the following functions for its maxima or minima and determine its value C =2x2-
12x+40
If Qd = 140-4p. Draw a demand curve for the firm's demand function along with a demand

schedule.
3 4 3 —4
2 3 * -2 3 gives a unit matrix

53
4 7

Explain the term random experiments with suitable examples

Show that

Define inverse of a matrix. Find the inverse of A= [

_ State the properties of normal distribution

(6%5=30)

Part C

Answer any two questions.

Each question carries 15 marks. a

What is meant by differentiation. State the important rules of differentiation.

- A radio manufacturer produces x sets per week at a total cost of Rs.x2+78x+2500.The demand

function is 8x=600-p where p is the price per unit. When is the net revenue maximium.What is the
price per set then?

Solve the system of equation : 12 x- 16 y+20z = -24 , 4x+4y-8z = -4 and 8x+12y +4z = 20

Five hundred families each having 4 children were taken as sample. If the probability of a child
having boy is 0.5, in how many families would yoy expect to have (i) exactly one boy (ii) exactly

two girls
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